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FHYSICS 11

Name:

Chapter 6 — Vectors

I. A jogger runs 6 km [E] then turns north and runs another 4 km. Determine the distance and
displacement of the jogger.
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2. Ifthe jogger in #1 fakes 45 miins to complete her run, what is her speed and velocity?
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3. A canoe with a forward velocity of 3 km/h is traveling directly eastward across a river. At thc same

time, a current of 1.5 km/h [S] carries the canoe down the river. Determine the resultant velocity of the
canoe. LSk~ + w
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4. A golfer hits a golf ball with an initial ve ocity of 25 m/s due south. A crosswind blows at £ /s due
ost. Find the resultant velocity of the golf ball immediately after it has been hit.
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5. A plane is traveling at 500 km/h due north. It encounters a wind that blow:: it fhia wast af 8{) km/h.

Find the resultant velocity 0% plane. - €. ast
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6. A swimmesr wishes 1o swim directly across a river. The swimmer can swim at 2.5 m/s in still water. If
the current in fh¢ river is 1.0 m/s, determine the an a_g_c (relative to the shore) that the swimmer must
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PHYSICS 11

7. A cyclist rides 50 km @ 50° [W of S]. He then rides@ km @ 40° [E of S]. YFind the resultant

displacement of the cyclist.
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8. A ship starts its journey at point A and travels for 200 km on a bearing 0 a point B. The

ship then changes direction and travels for 100 km on a bearing of 40° [E of S] to a point C. Calculate
the resultant displacement vector.
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9. Annie and Emily are kayaking. The kayak is paddled af 5 km/h toward 25° [W of N])while an ocean

current carries the kayak at 1.5 km/h toward 65° [W of S]. What is the resultant velocity of the kayak?
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